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RAILWAY RECRUITMENT BOARDS
I At At

RRB ALP & TECHNICIANS 2018

|Roll No: [
|Participants Name:|
[Test Center Name: ilON Digital Zone iDZ Madhyamgram

[Test Date: [14/08/2018
[Test Time: [1:00 PM - 2:00 PM
[Subject: |ALP Technicians

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 36 543X 108 3T H. T .Faaw grem?
The HCF of 36, 54 and 108 is:
Ans X 19
X212
X36
V218
Q.2 m.:ﬁsﬁtﬁnn#waﬁwmﬁm|m#mm;ﬁ;r,m
& O FHE - 6T T 3R 9w 0 F o @l W F wEE & e

ar?

Tapan, Ravi and Trisha shared a cake. Tapan had }ofit, Tlishahd%of it and Ravi had
the rest. What was Ravi’s share of the cake?

—— . —

. 4
2_ .

x 7
.. Al

3_ -

x 6
1

xa -

@ ggalr Bl AT HEAT3T H 3T FT 82
What is the mean of first hundred natural numbers?
ans X 1515
X 251
V3505
X 450

Q4 TIFAFET H AT 4.5.6TM 7 AT st A s &
A 3 awar @l ST T ord w4 g

A natural number, when divided by 4, 5, 6 or 7, leaves a remainder of 3 in each case.
What is the smallest of all such numbers?

Ans X 1843
X 2213
V'3 423




X 463

0% 37 R & 9ua H S FHE F FaAS 74 gl

QDO

A B C D
Select the figure which does NOT belong to the group.

DS

A B C D
Ans  X'1.D

X2A

v:cC

X4+B

Q.6 =fE Zar g2 wet & o oferer & 1o e ¢ 3R v e 7 16 I o
3R 57 g7 e Y- 8 o F1H Y § 3R v e 7 24 IEgE AR
FRTA TR

If a young son works quickly for 2 hours and prepares 16 i
works slowly for 8 hours and prepares 24 items in a day,

Ans . T &N T 310 ¢

The son has more

x 2 gt Fr ofFa T
Both have equal power.

The son has more power.

Q.7 T FEEISHA SRATY] H, T Forargiet 5.0 x 10~ m AT Hr a7 7 2.2 x 106 mys a1fey

W T ¢ | FAGeT faege ar &7 &2 (Rrega 3maer= 1.6 < 107° C)

In a hydrogen atom, an electron moves in an orbit of radius 5.0 x 10~**m with a speed of
2.2 % 10° m/s. What is the equivalent current? (Electronic charge = 1.6 x 107° C)

Ans  X'1.0.112 mA
X 2112mA
v :1.12mA
X 411.2mA

Q8 s W frw wEw @ T Ue IARET FE 87
The square root of which of the following numbers is irrational?
Ans o/ 1. 6560
«< 2 3969
< 31764
X 4 5625




QO & 7 smgfy i W advroR T Ay Rw @ oher At T AN




Q.10 FHfIISTA (mitosis) & =RUT F AH FarC, Trwk e Frenfoa For & o
ew @ W v gy

Name the stage of mitosis during which the chromosomes of a dividing cell lies at the
equatorial plate?

Ans X . m
Anaphase
A

: Metaphase
et

. Prophase
ettt

4

' Telophase

X3

Q& 1S e H W HeUEUd WEA H TIA Bl

3,12, __, 21612

Select the number missing from the given series.

3,12,  ,21612
Ans X 1149
X 2200
V3147
X 4150

Q.12 Tl TR & FW F, Th R FH Ieadal
o 3R colewnT T X & @i afoe g 40
foraetr ofr?

From the top of a platform, the angle of elevation of a tow

was the height of the platform?

Ans 453 #Hrex




QB & 1 Il T T H qAS AT W FfAT T
Problem Figure
-
O
Answer Figures
:o :o V]| [V
A V| o] oY
A B C D
Choose the correct water image of the given figure.

Problem Figure

Ans xl_ D

X4+C

Q.14 Rt | i TART AT & v A=faf@a &
g
‘Which of the following processes will take place the slowe:
liquid?

Ans FgUT

Ve

| Evaporation

X e
Condensation

x4 fears

Freezing

Q.15 U Ygel THIGEHIT ST fhde AT F Aade o arer Gge ST
Tremer Hier §2 30T RS & 9§ 2016 # TF Teey Ffder 6 o

‘Who is the first Indian player to score a century in his debut One day International Cricket
match? The said player achieved this feat in 2016.




X 2 eTe =
Hardik Pandya
X s ; :
Jayant Yadav
. HIUT AR

X .
Karun Nair

Q.16 3W FccR-HIFA F TUA HY S & 7§ T WPy HT TE AT Ffafaa 2

s S

b
FEN

Select the Answer Figure that is the correct water image of the given Problem Figure.

Problem Figure

Ans Xl' B

Q.17 T=fafa & ¥ Hia @1 3uHr TEEAs
AT ?
‘Which of the following devices converts Chemical energy

Ans J § ﬁﬂa m
Electric cell
0 faega @
Electric heater
o\ W I
Hair dryer
g g

Electric fan

Q.18 =fef@a # ¥ Ha & dcT FhT Hr A TR F F Sr-vegfARTH Hr

g BT 82
Which of the following elements replaced eka-Aluminium in Mendeleev’s Periodic
Table?

Ans v Ao
Gallium
X2 =T

Scandium




xg_aﬁﬁw
Germanium
x4_a13tﬁ1m

Titanium

o1 FTgey H gHA TH grar gl
A computer always has a:

1.
Keyboard

v T

2 o
xs AT

Mouse

. ‘

X 4

Power
X 4 !IEI I

Momentum

Graphics card
Q20 fTr=faf@a & ¥ &l @ sifos TR F H T Fgarr
‘Which of the following physical quantity measures the rate of wo
Ans x N g0l
Force
. 0
‘o ?

Q.21 e HuE, FHiom e, I I 3R R JawrEsd -
sfaafaar & v gy & f@ers werdt 82

These regional teams: Dabang Mumbai, Kalinga Lancers, Ranchi
Waveriders play against each other in which sports league competitio:

Ans N sf3aa ifAaw oer
Indian Premier League
. T s T
Hockey India League
. IATSCS dEhcdlol Tl
United Basketball Alliance
4 OT HassT T
Pro Kabaddi League

x

Q22 ar=ar Yeledel T &
Hydra reproduces by:




Ans x . a§- m m
Multiple fission
x 2 A AEsT g@nrr

Binary fission

5 @=a gamr
Fragmentation

4. ﬂ:’mla’ m
Budding

X

Q.23 mﬁﬁtﬁfﬂﬁg@,uaﬁ,aﬁ#ﬁaﬁmﬁ#%“gﬁrt3ih'ﬁﬂ'
w2 i ge H fawda fewr 7 135° R R g wdr Fr gE A faw & 180°
T ¥1 3nh 9, Brw fer & o 2w g wd gE 2

Facing North, Aishwarya turns 45° clockwise, then 135° anticlockwise and then 180°
clockwise. Which direction is she is facing now?

Ans Xl. m

South

X 2
North

ofad
West

v T
East

X3

Q24 DWT : GZW :: QPM :
DWT : GZW :: QPM :
Ans X 1 PST
V2 TSP
X3 TPS
X 4+ STP

&

Q.25 % W wAYas faan #t iR vk wt &5 swed e & a1 A @ /@
g fafea & /2

a&:
TSTATST ST o =Y #r off fF ag AR # AT e & v dretr st
THIR & I TIH FEA F 3T HH LS FEA

AT ’

1. ST T STt 3T GG & A el AT A AT $H AR et
& S g

2. TIUEOT SeAEeEE AR FE F ARG AR F @

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The highway authority had announced that it will be undertaking a major road repair work
for three days beginning Friday between Bangalore and Tumkur.

Assumption:
1. People need to plan accordingly for their trip between Bangalore and Tumkur.
2. The authority is troubling citizens with unnecessary repair work.




Ans x1'1 3R 2 o=t Afga &

Both 1 and 2 are implicit
Fad IIAT 2 AT &
X2 2
Only assumption 2 is implicit
Fao A 1 g @
3.
Only assumption 1 is implicit

x4;ra’r1 IRafrz@Ra e

Neither 1 nor 2 is implicit

v

Q2% o, H T Hr gfaerd AT Faen @ & -

The percentage of carbon in CO; is:
Ans o 1273
X214
X312
X444

Q.27 X & 3 ¥ 128 ¥& offl 3PR Fam # o & Fo GEA 16 off & X
¥ 7 3 e

X’s rank was 12 from the top. If the total number of studen
rank from the bottom of the class is:

Ans J15
X26
X37
X4 4

Q.28 myfas A ARV A, Hla & & amEar 7
In the modern periodic table, which of the two period:

Ans J1_2m3 6
2and3
X, 1312
1and 2
Xa-“ﬁ”
4and 5

x « 334
3and 4




Q.29 3cc I&HfaAT (Answer Figures) # & weat gt & T WX 3T aTell WEY
A et

Problem Figure

N

Answer Figures

29lole

Choose the correct figure from the answer figures that replaces the question mark.

Problem Figure

Answer Figures
xr|gl6le
Ans X13
X24
Vo2
X1

Q.30 If fareh orwer & e freaAw e o1 7 aREfdd & e &, & $§H pH
T faar 2o i gerraar g
If a solution turns blue litmus red, its pHis likely to be:

Ans X1_9
X217
V6
X8

Q31 ey T ae Rwredt A ¥ @&

PUNE : SXQF : CITY :
Select the related letters from the g

PUNE : SXQF :: CITY : o
ans - X 1 EKVZ
X 2 FLXZ

X 3 GMVZ ‘
v 4 FLWZ ,




Q.32

jan feb mar apr may jun

jan- STeraEdr feb- HRET mar- AT

apr- 3T may- #AS Jun- S

o s/ AE X 2T H I¥ 2017 # 6 FEA F A5F TSHH0T AN For g
F (FR ) AT g

Al AME A, Tge FE AFF (3) F AN g FEA; FA ATl (FrA) F
Ealic |

T 1T FeT F HUR W, AT 2017 & q5F & HARFT Telipd argair Hr
HEAT F4T §?

50 4
a5 4
40 4
35
30
25
20
15
10

5
o

months in 2017 in City X.

Note: In the chart, the first number represents bikes (grey) and

represents total vehicles (black).

Based on the given data, in March 2017, the number of v

registered is:

Ans X' 1.9000

< 211000
v 310000

X 415000

Q33 TR A Wit el F sgua 7:8 %
g 6:7 31 fEswT F 3@ 3k dee @ s

The ratio of sand to gravel in a mixture is 7 : 8 while that between grav: :
7. What is the ratio of sand to cement in the mixture?
Ans X171 7

X28:6

v33:14
X449 : 48

Q.34 FI ARG F AGE F T F A7 F off ST F1ar g
is known as India's Spice Garden.

Ans J B m
Kerala




Q.35 TH & Ryar & 37 TH & 37 H A ¢l 8 A vgA TA F Ry Fr 37 wWH
& 37 H1 2.5 0 N TH B TS 37 F= 2

Ram’s father is twice as old as Ram is. Eight years ago the age of Ram’s father was 2.5
times his age. What is Ram’s current age?

Ans . 25 a.é.
25 years

><223:cn‘r

23 years

24 3§
3.
v 24 years

22 I¥
4.
ol 22 years

Q.36 20kg HR H TF IFG H 2m H F dF 3O A §1 3H ITFG R
TEETHIUT F G@RT AT AT FE e gew ?

(FTT g =10 m/s?)
An object weighing 20 kg is raised through a height of 2 m. What will be the work done
by the force of gravity in this process?

(Take g = 10 m/s?)

Ans 40 STeT
X1 o

407
100 ST&T

100 J
400 SfeT
3. N

4007
50 ST
4 a

507

X2

v

@7 3T HTFHIFS HHAN N F

Non-metal oxides are usually:

Ans XL m

basic

¢ St
amphoteric

HFAT
acidic
ECAIC
neutral

v &3

X 4

Q.38 31fie T 2017-18 F 3IFER, 9NA F Wl W 3c0g (GDP) & #ar &
FT i IR Ffaild # @ g @ & e gem?

As per Economic survey 2017-18, the percentage contribution of the Services Sector to
India’s GDP will be in the range of:

e, 30-40% ¥ A
Between 30-40%
x , 40-50% ¥ =

Between 40-50%




L 30% & &

x
Less than 30%
v 50% & 3foe
Greater than 50%

Q.39 T ¥ e dF F 600 F YAURY FH AT FAT TEW 3@ 8% T I F+
FTURUT ea1st 9rod gl 31 afE T & 53wt a& 8% & uawf¥r # w@r ar 39
ST & § # e Tl grea gete

Rahi deposited T600 in a bank that promised 8% simple interest per annum. If Rahi kept
the money with the bank for 5 years, she will earn an interest of :

Ans X 1. %480
V2 2240
< 3.3200
X 4 3280

Q.40 T HEIFAN STuAfeT H Heg F FRUT IeoAs AT & FiA § Rererasw
& # g & H TF 3UgAT FIEAT I37 A2

‘Which assembly constituency within Chennai city was forced to have a recent by-election
because of the death of then Chief Minister Jayalalithaa?

Ans m

1.
Saidapet
, IR &F. TR
RK Nagar
X s %<
Thousand Lights

X 4 2
Royapuram

Q4 srcareer fraehr g &2

Implantation is the process of:
Ans x 1

HTAT & QR & 376 Teh qook T

the development of a child inside the mother’s body
8y 3R wehr dirwoT 3 feaemra

developing an embryo and its nourishment

v &3

Te TR & ST & JIAAS T J3eAT

attachment of zygote to the lining of a uterus

X a
AT & & U Sorder & ATeTH § 9Ivor

nutrition from mother’s blood through placenta

Q42 11111 FTFIE:

The square of 11111 is:
Ans o 1123454321




X 21234321
X 31223311
X 4321231

Q.43 fFE 9RAT AT (S a1g H TSAdT §a) & 2017 7 fheahR aRHesA
Friafe qTERR WTed §3T?
‘Which Indian actor-turned-politician won the 2017 Filmfare Lifetime Achievement
Award?

Ans x1 ICCICRCEI]

Vinod Khanna

x .
Dharmendra

v- e et
Shatrughan Sinha

x o SAT TS
Amitabh Bachchan

M Rrafafa & O Fia 91 v IsaEiRE
Which of the following is a Pythagorean tripl
Ans  X'1.235
X 27911
v 38,1517
X 4.17,21,29

Q.45 f3r 7T Fuat F wEr AT 3k
RTT & @ i & oy Tewer =1

FYU:
i ok Aot &1 FS o Fodr @i 74 B

foasay:

1. S o T o T F
2. IS ot Ak T G E

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the statements.

Statements:

All sharks are fish. No fish is a snake.

Conclusions:

1. No snake is a shark.
2. No shark is a snake.

Ans ‘111 3R 2 gt 3T F g
Both 1 and 2 follow.

s, T IR T & 2 FFEOT e g

Neither 1 nor 2 follows.




| et forhy 2 e FI Bl
Only conclusion 2 follows.

el Y 1 AT FT B

Only conclusion 1 follows.

X

X 4

Q.46 A, B3R CAee el & #7110 & F maca w23 #1 A 3R B et
5 F @ 12 & F gaed wa €, S9fF B3 ¢ o @ Beww @ F
20 Rt & g e 1 oY B 3oy 5@ F A A A 3H F F G A
F fraer foer o

A, B and C can complete a task together in 10 days. A and B would need 12 days if only
the two of them worked, while B and C would take 20 days if only the two of them
worked. If B worked alone, how many days would she take to complete the task?

Ans X122
X 245
V230
X420

Q47 3iferdiistet &1 MY THATT g W at 3cgea B ¥
Alan flame is produced when the oxygen supply is suffici

Ans
X1 Bfl'

green

XZ_FIR?TT

orange
Arelr

blue

oflel
X 4
red

Vs

Q48 syvig sTIfde g fba &1 fSfs F@

2T T “Tro T T
Select the missing term based on the given related words.

: Hand :: Sole : Foot
Ans EEl
X
Nail

%8

Finger
PO
Palm
I

Wrist

Vs

X 4

Q.49 F el g i TUTTAT FEE ggr Fr o 3 5w Sgmwey A
|
The founded the first city of Delhi and named it Indraprastha.

Question ID : 9864492095




Ans

o, T

Pandavas

FETAr
X2 °
Mughals

Xa?
Portuguese
Hiar

Kauravas

X 4

Q.50 A o fF faret Rt & ¥ udw F wEAW B e A Sgfed gl ¥ 39
fasheq &1 Ta L S T C # Rw v weF Rew (?) # s@ Thar ¢

%

2 QS

o ey s

%

X &K &
X147

X235

o
X345 06

v+ 37

Ans

o‘&

099
\
\0

Q51 ABC$+#DEF&=?GHII2+@
IRIFA A & IR R et ded

ADG : +=2 :: CEl : ___

ABCS$+#DEF&=?GHI!2*@ 1
From the above sequence find the missing term.

%
ADG " +=2 :: CEI - /.‘,é?}
ans  of 1 D?@ }{5,
X 2 D@’? R
X3 E?@

X+ E@?




Q.52

Distribution of various Minerals in Human Body
Sodium
)

mr“ Tm
“.:;"

18% Magnesium
aCakum  ® Magnesum « kon = Potasium = Sodium

Distribution of various minerals in the human body- AT R # fafdes
fAertew @1 faRor

Calcium- e
Magnesium- HvhfRras
Iron- aigr

Potassium- @R

Sodium- FifETHE
Ram arr % AT afR # wiFst @ A A R g
e 1T st & IR W, AT WR F gy waw wfow sfawa ik gy
FEY FH T AT UG F OIS FA§?
Distribution s:'d 'various Minerals in Human Body
gh I
on i :

18% Magnesium
sCakium = Magnesum « kon » Powsium  ® Sodum

\°°

The given graph shows the distribution of min

Based on the given data, what is the ratio of the
of distribution to that with the second lowest perc
body?

Ans X 14 : 1
X23:1
xX31:2
vi2:1

Q.53 35 3R T T I Y FA: 6 3R 7 A 7 9@ H TR E at
et 1 Y &, A & T T 780 3TN Y | FH G F 37 T 1T ey
IR
Arjun and Anurag complete a job in 6 days and 7 days respectively. They worked together
and earned a total of T 780. Find Arjuns’s share in this amount in I?

Ans X 1490
V2 420
X 3560
X 4350

Q.54 T garT 12 wiamt # sra ud 3% 24 ¥ A F 3@ aF 23
3 9Ioa T § AT 30 Faw 9 e & € o s wlEm 0 A @
3% @ ae §, @ Jaer o9 & afemsd F §, Bl v A A q FH
raer 37 TR I A G, A T TIT F TGANT F HFEA FA F
At a1 TH?
The average marks obtained by Raghav in 12 tests is 24. Zubeida has maintained an
average of 23 so far but has taken only 9 of the tests. If each test is out of 30, at least how
much must Zubeida score in any one of the remaining three tests to still have a chance to
match Raghav’s performance?

Ans X120




X219
X322
v 21

%5 Frell TATT # 37Tl arel W =T &l o |

Fill in the missing space with the correct figure.

Ans

XA
x2cC
V5D
X«B

Q56 forg Fufde cafea F ‘O gL AT F1H o o &7
Which celebrity is the author of the book ‘An Unsuitable Boy’?

i
4

Ans B . R
Khuswant Singh /,4“ 4
erg,mrﬁar - :;.xﬂ“’/
Shatrughan Sinha

Vs A e
Karan Johar

X AETH el
Shah Rukh Khan

X 2

Q.57 el 3 Ty & 30 X T TF $ARA F HUR F Haw\wT Hior 30° @l T’
$r Feré fraeh 12
The angle of depression of the foot of a building from the top of a tower 30 m away is 30°.
How high is the tower?




Ans 20‘/§ m
X1
203 m
X2 30 #Arex
30m
X3 20 #Arex
20m

, 1043 #HreT
10V3m

v

Q.58 2018 W, Freafagame smer= smaieT (FSHr) & sremet ST &2
As of 2018, who is the Chairman of the University Grants Commission (UGC)?

Ans x1mm

Anil Sahasrabudhe

X2 ASTAT g
Najma Heptulla

x o . WEE
V.K. Saraswat

e o 9. Qg

D.P. Singh

Q.59 I TF T THEAE Jeald I 3ot
afafda g &2
‘Which of the following changes when a body

Ans x . ;ia.‘.r
Momentum
T b\)
Speed
x o BT 6
Mass

WAL

Direction

Q.60 e #F FAAA 35 3 H TAA 37 & 1.5 I T 3 IF FA gl 12 I TgA
3NT T 3F WA T 3H F 3T F 3 I S N AT H TIAS 3H F 2

Roshan’s current age is three years less than 1.5 times that of Usha’s. 12 years ago Usha’s
age was three years more than half of Roshan’s age. What is Roshan’s present age in
years?

Ans X133
X 239
Vs 42
X 430

Q.61 FAT ¥ T WHs §vs TR 1 o Ry F:F 16% amw afora ol afy
30 TR F T 1,500 F wEr o & 3 3@ frawr F a=m?

Qamar gained 16% on the resale of a used stereo. If he purchased the item for ¥ 1,500,
how much did he sell it for?

Ans o 1T 1,740
X 231,820




X 3T 1,660
X 4T 1,600

Q.62 Fua W e AR FY 3k v T fF sw A R Fia o A
fafea & &

U
IFAT A TN T F FgT, "IRES A ToT T FEH AT AT gl

) 9
1. et dRae foraar gieae a8 8
2. e GRS N IS [T Fllell T8 §
Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Akbar said to his queen, “Birbal is the wisest man in my kingdom.”

Assumption:
1. Akbar is not as wise as Birbal.
2. Akbar wants Birbal to become the next king.

Ans wqaﬁrzaﬁﬁﬁaﬁ

Both 1 and 2 are implicit

Faer AT 2 AT &
X2 s

Only assumption 2 is implicit
xa Ad1dkad2dfzad

Neither 1 nor 2 is implicit

v s 2
Only assumption 1

Q63 rey SRt F ¥ FrEhr

Ans

Q.64 2016 # wfiia g8, fw=fafta & ¥ @ia W Gge Forareh fbewr ¥ forwar 100
FU3 H FAE F I F I AT §?

Released in 2016, which of the following is the first Malayalam movie to cross the 100-
crore revenue mark?

Ans X1 31T JEFhA THr
Oru Vadakkan Selfie




TUH

4.
x Drishyam

65 et Py THE T Y
The unit of momentum is:
Ans  of 1 Kgms~*
X 2. Kgms™?
X3 Kgmsz
X 4 Kgms

Q.66 T T yed W =R Y 3k a7 # F P=lofa wuat § ¥ siq-ar e
e T 3ol & & forw gIed g

14$20+8#4 FT AT FT &7

HYA:

1. $ & AT -, + FT ACIT +, # F AT +
2. 14%20+8 = 25

Consider the given question and decide which of the following statements is
answer the question.

‘What is the value of 14$20*8#4?

Statements:

1. $ implies -, * implies +, # implies +
2. 14%20*%8=25

Ans x 1.

v s
AT FUT 1 GATT § FafF Hael HAF 2 IATT 78
Statement 1 alone is sufficient while statement 2 alone is insufficient
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How many triangles are present in the following figure?




Ans X112
X216
X314
v 415
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The area of the base of a cone is 647 cm? while its slant height is 17 cm. This cone is
remolded to obtain a solid sphere. The radius of this sphere will be:

Ans . 8330 FdreT
8330 cm
2 2V40 #éerex
2Y40 cm
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Solid carbon dioxide is known as:

Ans a.*
v w

dry ice

e %

wet ice

xs.*‘qﬁ

gas ice
o, T T

solid ice
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Pipes A and C can fill an empty cistern in 32 and 48 hours, respectively while Pipe B can
drain the filled cistern in 24 hours. If the three pipes are turned on together when the
cistern is empty, how many hours will it take for the cistern to be > full?
ans X196
X248
X372

v 64
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At 8% simple interest per annum a sum of money becomes ¥ 300 in 2% years. What was
the sum invested?

Ans X 1T 240
X 23275
X 3.%260
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Which of the following Venn diagrams correctly represents the following classes:

Men, Fathers, Doctors

Ans
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Consider the given statement to be true and decide which of the gi
definitely be drawn from the statement.

Statement:

Many people living in villages relocate to cities for a better future.

Conclusions:

1. Government officers should have corr;pulsory
rural posting.
2. Increase more transport facilities between cities and villages.

- xlmﬁwzwwm%l

Only conclusion 2 follows.

L1 3R 2 At s =
Both 1 and 2 follow.
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Only conclusion 1 follows.
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Neither 1 nor 2 follows.

" Nad Tue # wEE 39gad faFeT o |
18 Ao = x3 3EH |

Fill in the blank with the most appropriate option.

18 volts = x3 ohms.
Ans X1 6 dIc
6 watts
v 8 T
6 amperes
X 3 6 [

6 milliamperes
6 Sl

Xa  °

6 joules

Select the term missing

Y-25, W-23, U-21. §-19. ?
Ans - X 1. P-16

V2 Q-17

X32Q-10

X488
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